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GENERAL INSTRUCTIONS

1. Read the instructions given on the
Question Booklet and OMR Sheet before
starting the answers. All the entries
should be filled by blue or black ball
point pen.

2. The Question Booklet contains
100 questions and all questions are
compulsory.

3.  Each question is of 2 marks. There is no
negative marking.

4.  Candidates must ensure that the Question |.

Booklet issued to them has all the
questions. Defective Question Booklet can
be got changed within 10 minutes.
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11.
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In case of any discrepancy between
English and Hindi versions of a question,
English version will be taken as correct,

wherever there are both versions.

Select and darken the circle corresponding
to the answer [(A) or (B) or (C) or (D)] in
OMR sheet.

In case more than one circles are
darkened in a question, it will not be

evaluated.

Do not make any stray marks on OMR
sheet and do not fold it.

Any candidate found removing pages from
the Question Booklet may be disqualified

and prosecuted.

Use of unfair means will disqualify the

candidate from the examination.

Cell phone, calculator or any such devices

are not allowed in the Examination Hall.

No candidate is allowed to leave the seat
before handing over the original OMR
sheet to the invigilator. Candidate can
take Question Booklet and Carbon copy of
OMR sheet.
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Most of the details of our present topography belong
to the:

(A) Pre-cambrianera
(B}  Paleozoicera
() Mesozoicera

(D) Cenozoicera

Chemical weathering is more effective than

mechanical weathering in :
(A)  Semi-arid region

(B)  Aridregion

(©  Coastal region

(D)  Cooltemperate region

The feature made by wind erosion is ;

(A)  Mushroom rock

(B Lapies
(C) Esker
(D)  Beaches

Beneath the lithosphere lies the Soft and Weak layer
known as :

(A) Nife
(B}  Outercore
{© Innercore

(D)  Asthenosphere

The plate margin along the zone of subduction is
called as :

(AY  Transcurrent
(B)  Convergent
(©) Divergent

. (D)  Shear
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If sea level falls, a river in that region will have :

(A) Riseinits base level
{(B) Risein the rate of deposition
{O  Reduction in erosional capacity

(D)  Rejuvenation

Which of the following authors are associated with
the concept of Geosyncline ?

(&) Penckand Davis

(B) Wooldridge and Morgan
(C Hall and Dana

(D)  Wooldridge and Lapichon

The temperature at which water vapours condenses,
is the:

(A) Relative humidity
(B) Condensation point
(©  Dew point

(D)  Evaporation point

Rain occurring due to rising warm-moist air mass

over stable cold air mass, is called as :
(A) Convectional

(B) Monsoonal

(@  Orographic

(D) Cyclonic

In northern hemisphere, polar winds blow towards :
(A)  South-west

(B)  North-west

{©) South-east

(D)  North-east
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11.  Thecloud type with vertical growth is :
(A)  Stratus
(B)  Altostratus
(©  Cirrostratus
(D)  Cumulonimbus
12.  Towards the poles, deflection force :
(A) Decreases
(B) Increases
(©) Remains constant
(D)  Fluctuates
13.  The “Bhwh” climate of Keppen is found in which
of the following ?
(A) Mangolia
(B)  Thar Desert
(C©) Patagonia
(D) Srilanka
14. The mean sea-level pressure of the atmosphere
decreases by half at the altitude of :
(A)  6km
B) 8km
© 10km
(D) 12km
15.  Pelagic deposits consist of matter derived from algae
and are mostly in the form of liquid mud known
as:
(A)  Bluemud
B) Ooze
© Redmud
(D) Coralmud
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16.

17.

18.

19.

20.

21,

The average temperature of the surface water of the

ocean is :

Ay 22°C
B 15°C
© 267°C
D) 18.6°C

The western coast of Australia records higher
salinity due to :

(A)  Ocean currents

(B)  Wind direction

(C)  Dry weather condition
(D) Alltheabove

Indirect tide is caused by :

(A  Gravitational force of the moon

B) Centrifugal force of the earth

{©) Gravitational force of the moon and sun

(D)  Gravitational force of the earth

Maximum density of sea water is at temperature :

(A) 2°C
B 4C
@ 6C
O 25°C

Ocean waves obtain their energy from:
{A) Solarsystem

(By Hotspring

(©  River water

(D) Blowing wind

Which one of the following rivers is called a
“biological desert” due to heavy pollution load ?

(A) Damodar

B) Ganga
() Yamuna
) Ghaghra
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22.  Who among the following proposed a grand
scheme of natural regions on a global scale by
combining physical determinants of plants and
animal life ?

{A) Unstead

(B) Herbertson
(©)  Whittlesey
(D}  Dickinson

23. The’Taiga’ forests are associated to the soil type :
(A) Chestnut soils
(B)  Yeliow soils
(C) Laterite soils
(D) Podsol soils

24. What natural vegetation can be expected in sub-

humid middle latitudes where evapotranspiration
almost balances precipitation ?
(A) Conifers
(B) Prairies
() Savanna
(D) Selvas

25. Among the following natural resources which
resource is providing more livelihood to the
people ?

(A) Water

(B) Land

(©)  Forest

(D}  Mineral

26.  “Biochemical energy cycle” refers to:

(A)  Adding biochemical fertilizers in soil

(B) Reaction of solar radiation with various
chemicals

(©)  Theenergy cycle of the whole organic world

(D)  Making of energy cycle by chemicals and
animals

117-Geo.-11

22,

23,

24,

25.

26.

e qUT WR[SEA & hfden fraien o ferat dfew
YA QX Wl 131 ol IMGR AreT fohes Feamfad
Gl

(A) LS
(B) TEEEA
© fagmd
o) fefdem

T T o wE TR g TR g R

(A) =R TT
® et
© AL
D) S T

ST g5 eI § STE] SIS S W) S
T et &, A o IisfoEw St F e w5y
IR

A) Iy
(B) T
© war
D) T

frerfafem o @ S0 W wepias Saes 9l i s
STISTTaehT Y& X W e ?

(@)
® o
© =
D) @

e g Sul T el gErm e e ©
(a) SEvEEfiE Sa w e g

® fafa= vomaf ol & @y @R &t =t
wiafsha

(C) HHE S S F 39 b
(D) wifordl 7 TErEfe Al g S = w1 i

P.T.O.




27.

28.

29,

30.

31.

Concept of cultural landscape was propounded
by:

(A) Huntington

(B) CarlSauer

(©  Whitbeck

(D) Salisbury

Who among the following is an advocate of

idealism in geography ?
&)  Guelke

(B) Gilbert

(@  Samuels

(D)  Pocock

Which among the following was responsible for the
radical transformation of spirit and purpose of

geography ?
(A) PostModernism
(B) Humanism

(O Structuralism

(D)  Quantification

The first scholar known for calculating earth’s
circumference was :

(A)  Anaximander
(B)  Eratosthenes
(© Ptolemy

(D) Strabo

The “Geography of Peace” was written by :
@A) Bl

(B)  Spykman

(©  Mackinder

(D) Valkenburgh
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32.  Human geography is “the study of the changing
relationship between the unresting man and the
unstable earth” this definition was given by :

(A) Ratzel
(B) Blache
(©)  Semple

(D) Huntington

33.  Who had first used the word “possibilism” ?
(A)  Febvere
(B)  Blache
(C)  Brunhes

(Dy  CarlSauer

34. Whoamong the following first initiated the concept
of second Demographic Transition ?

(A) VandeKaa
(B)  Lesithaeghe
(©) Coleman
(D) Fitzgerald

35. The Age-Specific Fertility Rate is maximum in the
age-group of ?

(A) 20-24 years

) (B)

(C) 30-34 years

25-29 years

(D) 35-39 years

36.  According to nearest-neighbour index what would
be the maximum value for a complete dispersed

settlement pattern ?

(A)  0.00
B) 155
© 215
@) 2.88
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37.  City-Size Distribution is best depicted by : 37. R-IMER fomo geae fHa R

(A)  Urban hierarchy (A) TR TEHFA

By  Central place theory (B) = TH g

(©) Rank-sizerule © gt eFeRR FEm

(D) Losch’s hexagonal pattern (D) &% 1 BRI giaed

38. Which one of the following is not related with | 38. T=fetEs B o7 ST & =i &% 9

informal sector of economy ? esif-erd s 82

{A)  Markettypes of economy (A) ST H AT YHR
(B)  Unskilled/Semiskilled labour force (B) W/Cﬂ?&p@'ﬂa EERIE]
(©) Temporary and unstable income (© TRt Ten SAfEe ey
(D) Capitalist mode of economy (D) ﬁ;ﬂ‘\'ﬁﬁ FrefeETen

39, For the establishment of cotton textile industry | 39,  Faiee IE w@ifd FE & fod frefafes § 4 U

which one of the following factor is more ideali ? T T ST I 7 2

(A)  Nearness of market (A) =R H e

(B)  Nearness of raw material availability B) F= WA H e e
{©) Nearness of water resources availability @ i gy & frae Sucredn
(D)  Transportnetwork (D) IfEE TeEh

40.  Which one of the following sequence’s of land use  40. I A7 % Hisd % IR g 3w o frfafea

according to Von Thunen’s model is correct ? STl A PA T HER?
(A) Market gardening and fresh milk, Fire wood Aa) SER AN T s Y, '5"&? 9 i, Ted
and lumber, Intensity crop farming FEA Gt
{B) Fire wood and lumber, Intensive crop B) TUF T FIS, e HHE Sll, SN A 0l
farming, Market gardening and fresh milk qr=l g8 u
(@) Intensive crop farming, Market gardening (© BT A Wi, ISR GEEF] T ST g,
and fresh milk, Fire wood and lumber, gﬂ:[ EREEIESS
(D) Marketgardening and freshmilk, Intensive (D) SR SFTEET T dIe g8, TR Hae LE IR
crop farming, Fire wood and lumber q g

41,  Which one of the following matches in case of | 41. TG HfH % grary H freafafes ghfem gt 4 9

shifting cultivation is not correct ? HH | e T 72

(A} Landang - Indonesia (A) IS geHRmE
(B) Ray-Vietnam (B) X - o

(©  Milpa- Mexico © Toour- B
(D) Tamrai- Brazil (D) AR - SIS
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42.  Which one of the following is based on the principle
of least cost ?
(A)  Weber’s theory
(B} Losch’s theory
(C)  Smith spatial profitability theory
(D)  Von-thunen theory

43.  Inwhich five year plan Green revolution was started
for sustainability of agriculture ?
(A) First
(B) Second
(© Third
(D) Fourth

44.  When was Jawaharlal Nehru National Solar Energy
Mission established ?
(A) 2010
By 2011
© 2012
(D) 2008

45. “Who controls the Rimland rules Euresia who rules
Euresia controls the destinies of the world” which
of the following books is related to this statement ?
(A)  Geography of Politics in a divided World
(B)  The Geography of Peace
(©  Democratic Ideals and Reality
(D) A New Soviet Heartland

46.  For which region did Mackinder give the term
Midland Basin ?
(A)  North Atlantic Coast Country
(B) EastRegion of Yenisei River
(C)  EastRegion of Volga River
(D)  Britain and Soviet Russia Centrally Located

Germany
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47,

48.

49.

50.

51.

“Race is a valid biological concept it is a group
united by heredity, a breed or genetic strain or
sub-species, itis not a valid socio-cultural concept”
who gave this statement ?

(A) G.Taylor

(B)  ArthurKeith
(@  Kroeber

(D) B.S.Guha

The base of Age-Sex Pyramid is broad and apex is
narrow in:

(A)  Developed countries

(B)  Developing countries

(©  Under developed countries
(D)  Noneof theabove

The Polor regions are sparsely populated
because :

(A) The growing season is short owing to low
temperature

(B) Thereare no mineral resources
(O)  Theregions are forested
(D) Both(B)and (C)

Who among the following noted first the regularity
between the sizes of cities and their rank ?

(A Zipf

(B) Jefferson
(C)  Auerbach
(D) Christaller

Who proposed the concept of ‘Geo-politics’ based
on ocean power ?

(A) A.T.Mahna
(B) C Ritter

(G Spykeman
(D)  Mackinder
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52,

53.

The concept of ‘Cultural hearth” was given by :
(A) CC Colby

B) CO.Sauer

© RJ. Pryor

(D} F.W.Notestien

The Triangular pattern of rural settlements develop
generally ?

(A) atthe bank of the straight
(B)  attheconfluence of two rivers
(©  between two hills

(D)  at the confluence of two rivers and one hill

54. Who developed the technique to measure the
Agriculture efficiency ?
(A) S.S.Bhatia
(B) R.L.Singh
(© S.M.Rafiullah
(D) L.D.Stamp
55.  Which of the following name a of shifting cultivation
in Orissa is correct ?
(A) Podu
(B) Bewar
(G Pendu
©) Jhum
56.  When the raw material used in an Industry is gross
and ubiquitous, the location of the firm will be :
(A)  near the sources of raw material
(B) any where between the sources of raw
material market
(©  near the market
(D) near the capital city
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57.

58.

i

59.

60.

61.

Which one of the following is the busiest oceanic
trade route ?

(A) Panama

(B)  North Atlantic Route
(© SuezCanal

(D) CapeRoute

In which country of the world, Petroleum is treated
as “Source of Power” not the economy ?

(A)  United States of America
(B) Saudi Arabia

© Trag

(D) Kuwait

Which one of the following authors has defined the
“Phrase a culture is that complex whole which
include knowledge, belief, art, morals, law, customs,
acquired by a man as member of society” ?

(A} E.B.Taylor
(B} R.I Lowie
(©) Kroeber

(D) Goldenweiser

Which one of the following religions has maximum

territorial region of dominance in the world ?

(A) Buddhism

(B) Islam
(C) Christianity
(D) Hinduism

Which of the following statements is the base of
concept of ‘caste region” ?

(A) Numerical strength of a caste
(B)  Social ranking of a caste in a region
(©)  Proportion of a caste in population

(D)  Share of a caste in land ownership
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62.

63.

64.

65.

The Heartland theory explains :

(A) Inter Province relationship

(B}  Centre state relationship

(©) Struggle between land power and sea power

(0  Classification of state

Which one of the following planning regions,
develops along transportation line or irrigation
channels ?

(A)  Transitional region
(B)  River valley region
(O  Axial developmentregion

(D) City region

Which of the following is Ethnic religion ?
(A)  Christianity religion

(B}  Islam religion

(©  Buddhism religion

(D)  Hindu religion

Which of the following set of languages are spoken
in descending order ?

{A) English, Chinese, French, Russian
(B)  Chinese, French, English, Russian
(©  Russian, English, French, Chinese

(D)  Chinese, English, French, Russian

66. Which indicator among the following could be the
best indicator of sociat well being ?
{A)  PerCapita Income
(B)  Population Growth Rate
(©) Crude Literacy Rate
(D)  Life Expectancy
117-Geo.-1I

62.

63.

64.

65.

66.

TreeTve o fereen! sme it § 7

(A)  Sioui=ia gy

B) FE TE Y

(© v U WS & s He
O) T 1 ST

Frerifra B s FaeH & aitee e st fg=m

el & T faestad S g ?
(A)  HehiaE &

(B) &I = &

© ol fawm &=
o) fadtam

e d 8 era ad §
(A) 3EE ¥H

B) T gd

© s

@ feg e

=1 & | AT 9T e STEdel w9 | Sl S ?

(A) s, ==, wiEE, w6
(B) =, ThiETE, SOt W
© &I, SIS, WG, =
(D) =, ST, W, wy

Freafarfias Sl § | S A SHearl o Hamn
Hohdeh ¢ ?

(A) ¥k =t em

(B) TSN IfE

(©  oTenfid TaTEr e

(D)  SiteF g

P.T.O.




r

67. “Region is an area of specific location which is 67. ‘‘gew Th W &9 Bl %, et fafyme safeafa

someway distinctive from other areas and extends Bidl ® = fordt WeRR & {Fﬁ &5 9 YHeH B % qan
as far as the distinction extends.” This statement ST 3T 2 g0 Tk thell gl B g faeh FUGEICH
made by : JHIH AT Bl §177 A% FREe wed 772

(A) Taylor (A) TR

(B)  Dickinson ®) Tefsm

(O  Monkhouse © HETST

(D) Hartshorne D) BT

68. The vice chair person of National Institution for | 68, U= 9RA Uferd WM (Fifd W) < 3ureas

Transforming India (NITI Aayog) is: R

(A)  Arvind Panagaria (&) efa Tt
(B)  Rajiv Kumar ®) TS FHAR

(C)  AmitabKant ©  AfHa ®E
(D) Raghuram G. Rajan (D) TEH S TS

69.  Which one of the following is not an Analytical | 69. TT=faATEd ¥ 9 Sidl T ueivs fasa =i

Techniques of Regional Planning ? forsersomeres wfafiy =& €2
(A) Regional multiplier analysis (A) TR s faer
(B)  Social area analysis (B) WHE® &1 fargermm
(O  Threshold analysis (© g feafa faverso
(D)  Economic base analysis (D) & ¥k e faeram

70.  Which one of the following is not a P. Hagget's | 70.  Te=ifcifia o ¥ =l Tk 1. e ! Farem i

method of delineation planning region? fofa =i 52

(A)  Distance Minimization Method () 0 e fafy

(B)  Discriminant Analysis Method ®) fTofafares favemu fafy
(©)  Thiessen Polygon Method © oo 9ggE fafu

(D)  Gravitational Analysis Method D) 7TEFa favem f&fy
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71.  Match List - I with List - II and select the answer
using the code given below :
List-1 List-1II
Regional Planning Country
Region
(a) Tennessee Valley 0] India
Authority
(b) Damodar Valley (iiy USA.
Corporation
(¢) The Northeast Polder (iii) Israel
(d) Valley of Zazreel (iv) Netherland
Project
Code:
(&) (a)-Gii), (b)-(id, (©)-(0), (d)-(iv)
) ®)  (@)-(i), (b)-(0), (c)-(iv), (d)~(i)
O (@), (b)(iv), (o)), (d)-(H)
D) (a)-(iv), (b)-(iii), (c)-(i), ()-(i)
72.  Which one out of the following divided India into
13 macro and 35 meno planning regions in 1972 ?
(A) P .SenGupta
(B)  Ashok Mitra
(© L.S.Bhatt
()  CS.Chandrashekhar
73.  The weighted index number method and the factor
analysis methods of delineation planning regions
0 are very important for :
‘ (A) Formalregions
(B)  Functional regions
(@O  Vernacular regions
(D)  None of the above
74.  Which one of the following is not a method of
measuring disparities in regional development ?
(A) Summation of rank
(B)  Aggregation of relative scores
(©)  Centra-periphery
(D) Deprivationindex
117-Geo.-I1
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71.

(@)

(b)

()
(d)

72.

73.

74.

WA - 13 gt - 1§ Yo S o = e &t

ITAT FLA U TRl I 1 =4 BT

it - 1 it - 11
wreforer e wewr L]

AR =t e (i) WG

THIEY =T HEd (i) EHF T TR
I il diest (iii) FoREA

SR "R IREST (iv)  Aieteneg

%< :

(A)  (a)-(i), (b)-(i), (c)-(1), (d)-(iv)

®) (-, (b)-(0), (c)-(iv), (d)-(iii)

©  (@-), (b)-(iv), (c)-(iii), (d)-(ii)

D) (@), (b)-(ii), (c)-(i), (d)-(i)
frefafad d 9 e 1972 d TRa R 13 4= 7 35
o7 Freiter ween  fasfaa feran &2

(A) o ¥ T

B) 3 e A

€ UATE wgH

(D) ©L.Uy. HevE

I gk e faft wa we favermm fafy faem

=¥ o Wi % AT agd e €
(&) ST I % fon

(B)  HEias Tl & fery

©  oTpeR W F fag

(D) W= § ¥ Tt o fog =&

Frfafad # 9 %iF T TR faem era=ger 91
=i fafy & €2

(A) I Hehar

(B) Hfer HHE G
© F=uRfy

D) A YIR®

P.T.O.




75.

76.

77.

(@)
(b)
(©
(d)

The highest Per Capita Net State Domestic Product
(2020-21) was of :

(A) Haryana
®) Goa

©  Sikkim
(D) Karnataka

The correct sequence of sub-regions of northern
plain of India is :

(A) Bhabar, Trai, Bangar, Khadar
(B)

(©  Khadar, Bangar, Trai, Bhabar

Trai, Bhabar, Khadar, Bangar
)

Bhabar, Khadar, Bangar, Trai

Match List - I with List - I and select correct answer

using the code given below :

List-1 List- I
State Climate (Koppen's
Scheme)
Kerala i) Cwq
Odisha (i) Dfe
Arunachal Pradesh (i) Amw
UttarPradesh  (iv) Aw
Code:
(A)  (@)-(id), (b)(iti), (c)1), (d)-(iv)
®B)  (a)(ii), (b)-(iv), (0)-(ii), (d)-(3)
©  @-), (b)), ()-(iv), (d)-(ii)
DO (a)-(iv), (b)-(D), (c)-(iii), (d)-(ii)
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75.

76.

77.

Haifues e =i FHaa o] 3% (2020 - 21) o

(A)  BiEmm
(B) TN I

© fafeen &
(D) T

qRE % 394 HeF F IT-YSTl ol WEl HH © ¢

(A)  WTFR, T, IR, B
®) TE, 9N, G, IR
(€ TS, S, T, e
D) R, Ee, SR, T

e - 1 g - 11 gafaa sifsy i A= ey

"

Y T T IUAT FHTA TL TG S A
g -1 Tt - 11
T e (I
AT o ITTEAR)
(a) T ()  Cwg
) st (i) Dfe
()  oTEUEd Yow (i) Amw
(d) IR (iv) Aw
FHe
(A) (@), (b)-(iii), (¢)-), (d)-iv)
B)  (@)-(ii), (b)-(iv), (c)-(i), (d)-(3)
© (@), (b)-(i), ()-(iv), (d)-(iii)
D) @)-(v), (b)-(), (o)-(i), (d)-(ii)



78.  Which one of the following is not correctly
matched ?
Atomic Energy Plant State
(A) Kalpakkam - Tamil Nadu
(B)  Kakrapara - Andhra Pradesh
(©) Kaiga - Karnataka
(D) Tarapur - Maharashtra
79.  Match List - I with List - IT and select the answer
using the code given below :
List-1I List-II
Coal field State
0 {a)  Bokaro (i) Chhattisgarh
(b)  Singrauli (ii)  Jharkhand
{¢)  Talchar (iii) WestBengal
(d)  Raniganj (tv) Odisha
Code:
(@) (@)-(), (b)-{id), (c)-(id), (d)-(iv)
B)  (a)(iii), (b)-(3), {c)-(iv), (d)-(ii}
© (-, (b)-(0), (c)-(iv), (d)-{iii)
@) (a)-(iv), (b)-(i), (c)~(ii), ()-(3)
80.  The period of population explosion in India was :
0 (A) 1901-1921
| (B) 1921-1951
© 1951-1981
(D) 1981-2011
81. The correct sequence in descending order of the
states according to population density is :
(A)  Bihar, West Bengal, Kerala, Uttar Pradesh
(B)  West Bengal, Bihar, Uttar Pradesh, Kerala
(C©)  Kerala, Uttar Pradesh, Bihar, West Bengal
(D)  Uttar Pradesh, Kerala, West Bengal, Bihar
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78.

79.

80.

81.

= 4 9 91 W = g e § 2

LIGILET R T
(A)  FHeTuERy - dfberg
(B) EHTERUIR ~ 3T
© Fm - HfieH
D) YL ~ ARl

Tl - 1 1 G - [ 9 gAfad Hifsn & = %5 &

ITANT LA T Tl 3L ] ¥ hifad |
T -1 et - 11
I & T
(a) T @ TG
b) fEmet (i) —FREUE
(c) e (i) 9f¥=Et ST
@ TS (iv) 3fifeem
FE:

(A) (@)1, (b)-(itf), ()-(ii), (d)-(iv)
B)  (a)-(iii), (b)-(0), ()-(iv), (d)-(i)
© @), (0)-(), (©)-(iv), (d)-(iii)
D) (a)-v), (b)-(id), {c)-(i), (d)-(i)

WA H SHHE faeiies St of
(A) 1901 - 1921
(B) 1921 - 1951
(© 1951 - 1981
(D) 1981 - 2011

THET T ¥ SIER IS o HE STaEl e ©

(A foer, 9fvem dme, e, S wed
(B) Uf¥=H s, foER, ST WRY,
© X, WY, I8, 9fem s
(D) I YR, hiG, IvEH Gme, foEr

P.T.O.




82.

83.

84.

85.

86.

Which one of the following is not correctly
matched ?

Iron and Steel Plant Technical

Co-operation

(A)  BhilaiIron and Steel Plant - Russia
(B) RourkelaIronand Steel Plant - Germani
(©)  Durgapurlronand Steel Plant - Britain
(D)  Pasco Steel Plant - Japan

Agricultural regions of India according to Indian

council for Agricultural Research are :

@ 7
® 6
© 8
O 9

The states having highest and lowest Per Capita
Net State Domestic Product (2019-20) were:

(A)  Sikkim and Uttar Pradesh
(B) Haryana and Jharkhand
(O  Goaand Bihar

(D) Tamil Nadu and Manipur

Which one of the following is not a geographical
tool ?

(A) Atlas

(B)  Air photographs
(©  Diagrams

(D) Satelliteimagery

Which one is not an element of map ?
(A) Title

(B)  Scale

(©  Direction (North)

(D}  Sizeofdots
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frafefad § 9 ®F o1 s e gaferd 42l &7

TATET SHT ST Tt TEaT

(A) Tuers e wd ge SEn w9
(B) TN el Ud gO s SR
© T el ue T e o
(D) TR 389 AN S

wT T SR UReE 3w w g e A

Fyenora fop & -

A 7

® 6

© 8 o
9

D)

sifysan Td =[Aad Yia oFfed fee =T 39K
(2019 - 2020) FTE! T &

() Tafern @ sy
(B) e ud gREvg
© el TE faEr

(D)  THeTg TE AR

frefafea § 9 30 @ TF i st @ £ 2

NI I \
B) A EAfE

© @

D) B famm

I 91 T HEAH 1 ddl el @ 7

(A) sfiRE

(B) TR

© femm (3wO)

D) fagat %1 R



87.

88.

) so.

90.

0 91.

Which one of the following is a non-quantitative

map ?

(A)  Chorochromatic map
(B) Dotmap

© Isoplethmap

(D)  Choropleth map

The most suitable method to represent population
density :

{A)  Multiple Dot Method
(B)  Choropleth Method
{©) Stlgenbauer’'s Method
(D) Isopleth Method

Interpolation is used in :

(&)  Choroplethmap

(B)  Isochromniccartogram
(@)  Choroschematic method
(D)  Isopleth map

The direction and quantity are shown in:

{A) Areaand Height diagram

(BY  Rectangular diagram
(©) Flowmap
()  Isochronic cartogram

Which one of the following is not a correct name of
pie diagram?

(A)  Wheel diagram
(B)  Divided circle diagram
(©  Angular circle diagram
(D)  Spherical diagram
92.  National Remote Sensing Centre situated at:
(A) Dehradun
(B)  Bengaluru
(© Hydrabad
(D) Kolkata
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91.

92,

= § U 1 O T STHERHE A 2

(A HRERETE T
) fogamta

©  HAHF wa A
(D) ST AT

THEAT T ) T & fore wey Suges fafy ¥

() wE-farg fafa

(B) =G fafy

© Teesmaer &y
() THEF E fary
ST 3wEm B formn s ©
(A) U A o
(B)  HHHITAF TR H
© iy fofa
(D) THHME @ At |
(A)  &F TE HIE seE H
(B) AN 3G H
©  voE HHf o

(D) U WA H

frefafEa ® 9 7 W U FAE (pie diagram)
e T 77

(A) T AE

®  fanfom e s
©  itE g AiE
D) Mg e
(A) =R

(B) e

© R

(D)  <hIcTehal
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93.

94,

95.

96.

97.

Which one of the following is not a main element of

geographical information system ?

(A) Computer hardware
(B) Multiplex

(O  Computer software
(D)  Data base

The following is not a correct source of primary
data :

(A)  Unpublished data
(B) Questionnaire

(C) Schedule

(D)  Interview

Which one of the following is not a two-dimensional

diagram ?

(A)  Square block diagram

{(B) Pyramid diagram

(C) Divided rectangle diagram

(I} Ringdiagram

The most suitable diagram to represent population
of metropolitan cities of India is :

{4) Cubediagram

(B)  Block pile diagram
(C)  Spherical diagram
(D)  None of the above

The cumulative frequency curve is known as:

(A) Ogivecurve

(B) Histogram

(©)  Frequency polygon
(D)  None of the above
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98. Lorenzcurve was developed by Max Lorenzin:

(A) 1905
(B) 1908
© 1915
D) 1910

99. Which one of the following is not a business
averages?

(A) Movingaverage
(B) Progressive mean
(©) Harmonic average

(D)  Composite average

100. LowestR valueindicates:
(A)  Clustered pattern
(B)  Approaching uniform
(©) High dispersed pattern
(D}  Complete concentration

-00o0-
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98, o o W AN g Taeniaa forem o an :

()
(B)
©
(D)

1905
1908
1915 |
1910

99, 9= § Q% W U AUIE AT A 87

(A)
(B)
©
(D)

oA AT
T H1E

T 1
wufe AreA

100. =IEH R T QU8 -

(A)
(B)
©
©)

Tfesa gfaey
THEY F fehe
3= fafeol gfaeq

T HhR

-000-
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